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QUESTION 1

A network technician is trying to terminate CAT5 modular jacks. Which of the following tools would be MOST
appropriate for this scenario? 

A. Crimper 

B. OTDR 

C. Throughput tester 

D. Punch down tool 

Correct Answer: D 

 

 

QUESTION 2

At which of the following layers do frames exist? (Select TWO). 

A. OSI model Data link layer 

B. TCP/IP model Network Interface layer 

C. OSI model Physical layer 

D. OSI model Network layer 

E. TCP/IP model Internet layer 

Correct Answer: AB 

 

QUESTION 3

Users have reported choppy audio in phone conversatons since the implementaton of SIP phones on the network.
Which of the following should be implemented to alleviate the delays? 

A. Caching 

B. VoIP 

C. QoS 

D. SMTP 

Correct Answer: C 

 

QUESTION 4
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Two WAPs are positoned with overlapping coveragef but seamless roaming across them is not working. Which of the
following should be checked? 

A. WPA should be enabled 

B. PKI should be turned of 

C. WAP SSIDs are matching 

D. WAPs are transmitng on same channel 

Correct Answer: C 

 

QUESTION 5

The day network administrator is having problems on the network and realiies that the night administrator implemented
a new device that is causing broadcast trafc. Which of the following should be implemented to avoid miscommunicaton
between the administrators? 

A. Asset management 

B. System baselines 

C. System logging 

D. Change management 

Correct Answer: D 
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